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     EXCEL CIVILS ACADEMY 
DAILY CURRENT AFFAIRS 

                                                    Date: 07-02-2022 

 

1. Consider the following statements: 

1) The ‘cancer moonshot’ programme was first launched by Biden to reduce covid cases. 

2) Metastasis is a word used to describe the spread of cancer. 

Which of the above statements are true? 

a) Only 1                            b) Only 2                         c) Both 1 and 2                     d) Neither 1 nor 2 

 

2. Consider the following statements regarding Pradhan Mantri Kisan Maan Dhan Yojna 

1) Under this scheme, a minimum fixed pension of Rs.3,000/-per month will be provided to the 

eligible small and marginal farmers. 

2) The Scheme is a voluntary and contributory pension scheme, with entry age of 18 to 40 years. 

Which of the above statements are true? 

a) Only 1                          b) Only 2                      c) Both 1 and 2                         d) Neither 1 nor 2 

 

3. Consider the following statements: 

1) The Bilateral consultations on United Nations related issues were held between India and Russia 

in Moscow 

2) Russia is set to assume the presidency of the UN Security Council in February, 2022 

Which of the above statements are true? 

a) Only 1                           b) Only 2                      c) Both 1 and 2                      d) neither 1 nor 2 

 

4. Consider the following statements: 

1) The Kerala government announced that the country’s first Graphene Innovation Centre would 

come up in Thrissur, Kerala. 

2) Graphene is a one-atom-thick layer of carbon atoms arranged in a hexagonal lattice. 

Which of the above statements are true? 

a) Only 1                       b) Only 2                         c) Both 1 and 2                        d) Neither 1 nor 2 

 

5. How important is the security dilemma for realist understandings of world politics? 

a) Very important, as it determines how, or if, a balance of power emerges. 

b) Very important, as it determines if balance of power emerges naturally or must be constructed. 

c) Important, but not crucial to realist understandings of world politics. 

d) Very important because it determines how, or if, a balance of power emerges and it determines if 
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balance of power emerges naturally or must be constructed. 

 

6. Realists are: 

a) Advocates of aggressive foreign policy and war. 

b) Supporters of war when it is necessary to further a rational understanding of the national interest. 

c) Concerned with economic development only. 

d) Afraid terrorism will make the world a less secure place. 

 

7. Consider the following statements: 

1) A path of a satellite in polar orbit will exactly match the rotation of the Earth. 

2) A Geosynchronous satellite orbit travels north-south over the poles and takes approximately 90 

minutes for a full rotation.  

Which of the above statement/s is/are correct? 

a) 1 only                             b) 2 only                        c) Both 1 and 2                        d) Neither 1 nor 2 

 

8. Consider the following statements: 

 It was established in April 1987 by G-7 countries. 

 It was established to prevent the proliferation of missile and unmanned aerial vehicle technology. 

 India is a member of this group. 

The above description most appropriately explains which of the following international groups? 

a) Missile Technology Control Regime 

b) Nuclear Suppliers Group 

c) Australia Group 

d) Wassenaar Arrangement 

 

9. The blueprint for a multidimensional Coast Guard was conceived by which of the following 

Committees? 

a) Rohini Committee  

b) Kasturirangan Committee. 

c) Rustamji Committee  

d) Balwanta Committee. 

 

10. With reference to Neglected Tropical Diseases (NTDs), consider the following statements: 

1) It is a group of infections that are most common only in the developing regions of Africa and 

Asia. 

2) They are caused by a variety of pathogens such as viruses, bacteria, protozoa and parasitic worms. 
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3) Globally, a minuscule population is affected by NTDs. 

    Which of the statements given above is/are correct? 

    a)  1 and 2 only                        b) 3 only                            c) 2 only                               d) 1, 2 and 3 


